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SULIT 5 1449/2
Section A For
(52 marks] Framiner's
Answer all questions in this section.
1  The Venn diagram in the answer space shows sets P, O and R such that the
universal set £=PUQUR.
On the diagram in the answer space, shade the set
a) PnR
b) QU(P'NR)
[3 marks]
Answer :
a)
b)
1449/2 © 2017 Hak Cipta Panitia Matematik SJ1 SULIT
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SULIT

For
Examiner’s 2
L‘FSQ

“

Im

1449/2

h==2*+7t-2

Ground

Answer :

Y49/2 € 2017 Hak Cipta Panitia Matematik SJ1

A paper plane is thrown at the height of Im from the ground.

The paper plane creates a curve path, s =-2¢>+7t-2.

When will the paper plane been caught 1m from the ground?

[4 marks]

SULIT
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SULIT 7 14492

For
3 Diagram 3 shows the base of a swimming pool. Examiner's
Use
¥
dx =
Diagram 3

The different between the length and its width is 10m.

The perimeter of the base is 36m.

What is the length and the width of the swimming pool?

[4 marks]
Answer :
1449/2 © 2017 Hak Cipta Panitia Matematik SJ1 SLrﬁlT
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1449/2

SULIT 8
For
Examiner’s 4 Diagram 4 shows a right prism with a uniform cross section in the shape of right-
'
L angled triangle RST. M is a midpoint of ST
Diagram 4
a) Name the angle between line HM and the plane RST.
b) Hence, calculate the angle between the line HM and the plane RST.
[4 marks]
Answer :
{4,49!2 L\g 2017 Hak Cipta Panitia Matemauk SJ1 SULIT

5 WWW.ANDREWCHOO.EDU.MY]



SULIT 9 1449/2

For
5 A gold cone is melted to produce 3 identical gold spheres. Examiner's
Given that the radius of the gold cone is 7em and its height is 14cm. L
Find the radius, in cm for each of the sphere.
[4 marks]
Answer :
\
1449/2 © 2017 Hak Cipta Panitia Matematik SJI SU[/[T
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SUL T 10 1449/2

Fe
Examirer’s 6. Diagram 6 shows two parallel lines, OP and QR.
= Straight line PR is parallel to x-axis and O is origin.
Given the gradient of OF is ﬁji
Y
P R(8,1)
» X
(@)
0
Diagram 6
(8) Find the equation of straight line PR.
(b) Find the equation of straight line OR.
Find the y-intercept of straight line OR.
[5 marks]
Answer :
(a)
(b)
i
tia Matematik S11 SULIT
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SULIT 11 1449/2
For
7 a) State whether the following statement is true or false. Examiner's
Some multiples of 3 is divisible by 2 Ll
b) Write down the converse of the following implication.
Hence, state whether the converse is true or false.
Ifx’ =125, thenx =5
¢) Area of a trapezium with the sum of its parallel line is 24cm and its height, 4 is
i(24)(}:).
2
Make one conclusion by deduction for the area of trapezium with the same sum
of parallel lines and the height is 7em.
[5 marks]
Answer :
a)
b)
c)
1449/2 © 2017 Hak Cipta Panitia Matematik S} W]T
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12 144972

|

Ex.enin " e} 5 =]

Use | It is given matrix 4= :
! -2 4
Find the inverse matrix of 4.
! b) Write the following simultaneous linear equation as matrix equation:
' Sx-3y=11
| “2x+4y=-10
i Hence, by using matrix method, calculate the value of x and of y.
[6 marks]|
Answer :

I )
l
1
|
_—
|
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1449/2

For

Tony Stark wanted to build an arc reactor. The plan of the arc reactor is as shown Examiner’s
Use

SULIT 13

2

in Diagram 9.
It is noted that an equilateral triangle can exactly fit into the circle. The length of

the triangle is 12.12cm and the diameter of the circle is 14cm.

Diagram 9

Using #= %, calculate

a) the perimeter, in cm, of the shaded region.

b) the area, in cm?, of the shaded region.
[6 marks]

Answer :

a)

b)

BVLIT
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144972

SULIT 14
For

Examiner’s 10 Diagram 10 shows nine labelled cards in two boxes.
Use

Diagram 10

A card is picked at random from each of the boxes.

By listing the outcomes, find the probability that
a) both cards are labelled with a number,

b) one card is labelled with a number and the other card is labelled with a lefter.
[5 mhrk
Answer :

a)

b)

W()/Z © 2017 Hak Cipta Panitia Matematik SJI SULIT
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SULIT 15 144972

For
11 Diagram 11 shows a speed-time graph for the movement of a photon for a period Examiner’s

of 40 seconds. Use

Speed (ms™)

1=

0 ! 30 40 Time (s)

Diagram 11
The total distance travelled by the photon is 380m.
a) Find the average speed in ms™ of the photon for the period of 40 seconds.
b) Calculate the rate of change of speed, in ms™, of the photon in the last 10
seconds.
¢) Calculate the value of't.
[6 marks]

Answer :

a)

b)

c)

1449/2 © 2017 Hak Cipta Panitia Matematik SJI 'SULKF
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SULIT 16 1449/2

For Section B
Examiner's
Use [48 marks]
Answer any four questions from this section.
12 - ; : 10
a) Complete Table 12 in the answer space on page 16 for the equation y=—— by
x
writing down the values of y whenx =-2.5 and x = 1.6,
[2 marks]
b) For this part of the question, use the graph paper provided. You may use a
flexible curve ruler.
By using a scale of 2 cm to 1 unit on the x-axis and 2 cm to 2 units on the y-
axis, draw the graph of y= ol for -4 x<4.
x
[4 marks]
¢) From the graph in 12(b), find
1) the value of y whenx=-2.9
11) the value of x when y =-7.8
[2 marks]
d) Draw a suitable straight line on the graph in 12(b) to find the values of x which
satisfy the equation —-1—9+2x— 4=0 for 4<x<4.
-
[4 marks]
Answer :
10
a) y=-—
x
X - 2.5 2 -1 1 1.6 2 4
% 2.5 3 10 -10 -5 -2.5
b) Refer graph
€F D VS
1) I N
d)
B s v g R A SO g e e RS
14#9/2 © 2017 Hak Cipta Panitia Matematik 8J1 SULIT

13 WWW.ANDREWCHOO.EDU.MY]



SULIT 17 1449/2

For
13 (a) Diagram 13(i) shows the point (2,4) and the straight line y = x drawn on a Examiner’s
Cartesian plane. Lo
" | PIE |
el
4+ @
. (2,4).
3 2_,_.. I
T : L] ; L x-l
0 2 4 6 8
Diagram 13(1)
Transformation T is a translation [ 3 } Transformation U is a reflection in
the line y = x. state the coordinates of the image of point (2,4) under each of the
following transformations:
M T
(1) TU
[3 marks]
(b) Diagram 13(ii) shows pentagons ABCDE, QKRSU and JKLMN drawn on a
Cartesian plane.
.
D
) c
B
} t = 3
4 6 §
Diagram 13(ii)
1449/2 © 2017 Hak Cipta Panitia Matematik SI1 SULI(T/
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SULIT 18 144972

For
Examiner’s

f s (i) JKLMN is the image of ABCDE under the combined transformation WV,
Is

Describe in full, the transformation:
a) V
b) W
(il)  Given the pentagon ABCDE represents a region of 60cm?. Calculate the
area, in cm’, of the shaded region.
[9 marks]
Answer :

a) 1)

b) i) a)

b)

JA49/2 ©2017/Hak Cipta Panitia Matematik SII SULIT
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SULIT 10 144972

For
14 Diagram 14 shows an ogive which represent the time taken by 100 students from their Exar;;::er
house to St. John’s Institution.
Cumuiative frequency
Kekerapan longgokan
! s Rl
100
90
80
701 '
60
50
40
30
20
10
Gy & ——3 Time (minutes)
45 95 145 195 245 295 345 395 Masa (minit)
Diagram 14
a) Based on diagram 14, complete the Table 14 in the answer space on page 20.
(4 marks]
b) Calculate the estimated mean.
[3 marks]
c¢) For this part of the question, use the graph paper provided.
By using a scale of 2 ¢cm to 5 minutes on the horizontal axis and 2 ¢cm to 2 students
on the vertical axis, draw a frequency polygon for the data.
[4 marks]
d) Based on the frequency polygon drawn in 14(c), state one information.
[1 marks)]
1449/2 © 2017 Hak Cipta Panitia Matematik SJI SUt]T
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STI* v 20 1449/2
Fa
Exani, ]
Use Answer ;
a)
Time Upper Cumulative Frequency Midpoint
(minutes) boundary frequency
0-4 4.5 0 0 2
5-9 9.5 7 7 7
|
’ _ Table 14
b)
!
¢) Refer graph
d)
4'4942 x\_:! Tak Cipta samtia N ematik SJ1 SULIT
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SULIT 21 1449/2

For
Examiner’

15 You are not allowed to use graph paper to answer this question. Usa

a) Diagram 15 shows a solid right prism with a rectangular base ABCD on a
horizontal plane. The surface 4BJFE is the uniform cross section of the prism.
AE, DH, FJ and GK are vertical edges. It is given that KG is 2cm and HG is 6cm.
Rectangle EFGH is a horizontal plane and rectangle BCKJ is an inclined plane.

Diagram 15(i)

Draw a full scale, the plan of the solid.
[3 marks]

Answer :

a)

1449/2 © 2017 Hak Cipta Panitia Matematik 811
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SULIT 22 1449/2

For
E\'agi}:er L b) A part of the prism is removed and a cone with the height of S5¢cm and diameter of
h Scm is joined to the prism in diagram 15(i). The combined solid is shown in
Diagram 15(ii).
Y
& Diagram 15(11)
" Draw full scale,
(1) the combination of combined solid on a vertical plane parallel to AB as
viewed from X.
[4 marks]
(ii)  the elevation of the combined solid on a vertical plane parallel to BC as
viewed from Y.
[5 marks)
NM4O/2 @ 2017 Hak Cipta Panitia Matematik SIT SULIT
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SULIT 1449/2

23
For
Examiner’s
Answer :
Use
b) i)
ii)
1449/2 © 2017 Hak Cipta Panitia Matematik SJ1 Sl_rLlT
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SHEIT

Examiner's -

144¢

24 1449/2

For

Use 16 Diagram 16 shows the locations of points K, L, M, P, Q and R on the surface of the
earth. O is the centre of the earth. '

Diagram 16

a) Find the location of P.
[3 marks]

b) Given the distance of LM is 3660 nautical miles, find the longitude of L.
[3 marks]

¢) Calculate the distance in nautical miles, of QP measured along the common

parallel of latitude.
[3 marks]

d) An aeroplane took off from P and flew due west to Q along the common parallel
of latitude. Then it flew due south to L. The average speed of the aecroplane was
550 knots.

Calculate the total time, in hours, taken from the whole flight.

[3 marks]

© 2017 Hak Cipta Panitia Matematik S11 SULIT
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SULIT

]
un

Answer :

a)

c)

d)

END OF QUESTION PAPER

1449/2 © 2017 Hak Cipta Panitia Matematik S
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11.

0- % X
=0 % W

0

c)%X(16+8)t+(30—t)8+% x 8 x 10 = 380

12t +240 — 8t + 40 =380

4t =380 — 280
4t =100
t=25s
12 (a) 4, -6.25
(c)1)3.5
i1) 1.25
13 . . \ 1
a) i) HHw) — &5.3\ \ 5 &3 N
]

b

i) ¢ - <
' ')I 3 \
V) 2wy (a0

) 1) a) V> Rotation 90 ° anticlockwise at centre (3,3)
b) W= Enlargement, K = 3, at centre K
i) K* = M, If x is the area of the shaded region
Area object
» _ 60+x
60
540 - 60 =x
x =480cm*

28
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14.

a)
Time Upper Cumulative Frequency Midpoint
(minutes) boundary frequency
0-4 4.5 0 0 2
5-9 9.5 7 7 7
W= w WS P \3 \n
IR 0 -9 Ay \9, \}
| %0 -9y WS 65 N M
9% - Y RUREY 0 3 1%
30 - 30 W ) 2 N
N W WS \00 b W
- Table 14
b)

™oy =

L0ra) L (o) 1m k) 1 e G DRI CIES R

s
\oo

NN
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15.

a)

b) 1)

H/D K/G '8)
E/A J/F B
p
A
f"/ \
i \
e
T {» _— S _ _]|
_‘ /
_“”
1 L ) \ !
‘ \
/
|/ |
RN y’_’ Iy 1
|=
P o I
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16.

a) (60 °N, 135 °E)
by 3060 _ ¢
60

135-61=74°E
c) 61 x 60 x cos 60 = 1830 n.m
d)
1830
60 x 60 Q € P
=3600

L

S = 550knots, T = 2200+ 1830

550

= 9.87 hours
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